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Answer either in English or in Assamese.

1. Choose the correct option : (any seven)

1x7=7
w7 e Ak SRedt ¢ (R bt

\,({) Fisher’s ideal formula for index numbers
does not satisfy

wwﬂzﬂmmﬁﬁ@«wﬁwwm
BRG]
(i) time reversal test
) Tegrmel AT
(iij) circular test
eI #_TH
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(iii) factor reversal test

TS Teae I

(iv) None of the above
89T B 7
(Choose the correct option)

(% C&ICh! fareh)

! \{9)/ The general decline in the sales of cotton

(c)

clothes is attached to which component
of time series ?

AR T RSP aRe Fxarfrer #iore

PITET P! ToAMTT T ©fe® 02 @irg?
(i) Trend
ERIO)]
(i) Seasonal variation
o ]
(iii) Cyclical variation
PRI o i
(iv) All of the above
B AR
(Choose the correct option)
(®% TeICo! faraly)

Periodic changes in a time series related
to business activities are called ;
(Fill in the blank)

e (EFaRmIoR w1 Gits e wie
AfRTST PRI (07} 312 %3 791)
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In statistical quality control, when is C
chart used ?

ARRUR w1 Tare Fages @ow C 5

JII MW= ?

Why is Fisher’s index number called the
ideal index number ?

RS i e Sl i 3o o =

It has been found 'empii'ically that the
Pareto curve fits much better for
income groups. (Fill in the blank)

ARSI 20! (AR MR @ ol
(51153 AN (B’ I @R AT |
(T1 312 %7 7)

What do you understand by BLUE ?
BLUE gfeTce1 & @it ¢

In SQC, when is X used ?

5.0 s, @fear X it s =2

Define general fertility rate.
A TITolT 29 dfadt =4 |

qf)/ What is infant mortality rate ?
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2. Answer any four of the following questions ;
2x4=8

Rizzeea sifdbt 2msi< Tws 31 ¢

(@) What are the columns of abridged life
table ? Enumerate them.

AT G IR TSR 5 2 I 1 |

\-(b/ Distinguish between gross and net
reproduction rates.

vﬁﬁmbvwﬁ&iésa@ﬁﬁqzmaasneﬁqvnﬂ%ﬂvnyzﬁﬁnnu
State Engel’s law.
GROGER D ReTe=E e T

(d) Distinguish between chance causes and
assignable causes in SQC.

95.FT. o Ffrarig TR w7 RGBT
PRI &S AL TR |

(e) What is the ideal about Fisher’s ideal
index number ?

rRRR S Sppaicass s e

\(f) Write a short note on standardized death
rate.

AN TR 29 @97 WS Gt 7wt |

L@/ Distinguish between product control and
process control in SQC.

asﬁﬁEﬁﬁsvmmﬁﬁﬁﬂ@#GW$emﬁﬁnﬁhmma=mws
ity faralt |
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3.

(h

Which component of time series is
mainly applicable in the following cases ?

T PRI T e WRfle crae
AT ?

(i) Sales of jewellery and ornaments
g0es up in marriage season

<RIz ToTe wt-wErRe R 3

(i) Fallin death rate over the years due
to improvement in health care

Y ORI TAfS AT IR IR 4R g
QI

Answer any three questions from the
following : 5x3=15

oo ez fefait ehsm Teg < ¢

(@)

With the following data, calculate price
index number by using —

(i) Laspeyre’s, (ii) Paasche’s, (iii) Fisher’s
index number :

OoTS Al AR SHal FGCAIA, 2N e e
AR IR R I5hIe P 1 ¢
2010 2015

Commodities Price Quantity  Price Quantity

oW

20 8 40 6
50 10 60 S
40 15 30 10
20 20 20 50
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y What do you mean by cost of living index
number ? Explain different uses of index

numbers.
0|ESY Wﬁsﬂwﬂwmﬁ{m?wam
Rfen TagerE fordl| ‘

(c) Whatare different methods for studying
trend ? Describe the least square method
for fitted trend to time series data.

srerst el 79 ~afonR & e PETETE
eraeiol TRy IR N 2o Sfote! 1 3|
£ Write a note on Gini’s coefficient.
AR e 6o afb TIoR |
(¢ Distinguish clearly between control
charts for variability and control charts
for attributes.
oifRgETIETOR AIC Faged B15 S @A I
forael 16T Were <A1 fAef 4
() Whatis standardised dealth rate ? What
are the advantages and disadvantages
of this death rate ? .
aAmifas o1 W &2 @3 ToR TR R =
pRUPTR el |
Discuss different columns of life table
t’ég/ together with their interpretation.
S iR RioH TR IIYR (100 Ut
SCEoA
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(h) Describe demand and supply curve
mentioning the uses and limitations of
these curves.

BIfRAt S (151 I 361 IR GZ IR IR
W< AR T |
4., Answer any three questions from the
following : 10x3=30
worq RicpIcat ol 2 Tes i 3
(a)~ Discuss different fertility rates,
N\ comparing their advantages and
disadvantages.
ffen Tiaoiq 2 #191S O JRl 1% SPIRAPTZ
S0 41 |

(ble Discuss various problems involved in the
construction of index numbers.

AHIRT LFeIIO TEI (I [fen FrmR
S 1 |

(c) . Explain the procedures of construction
of various control charts for variables
and explain how they are used.

Sor e i e 57 e < SR
I T SR CIREIR (WS IR T g 3
9|

(d) Explain and describe the terms
‘producer’s risk’, ‘consumer’s risk’,
‘AOQL’ and LTPD’. 2%x4=10
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TR S, THTSISIT S, ‘AOQL”
S ‘LTPD’ S 1 et It oife ey v |

Je) Write a note on some of the important
sources of demographic data in our
country.

SR O Gl o UR g wgel T
G9FS bI (GIF &AE© T4 |
() Explain the concepts of autoregressive

series, autocorrelation and correlegram.
Define the uses of time series data.

Facfern e, TR AR ToE W
ORI GRATAE I T | T
FRETZ 39 40|

(g) Describe the moving average method.

What are the advantages and
disadvantages of this method ?

ST 5ETE 51T AGROTH! 30 T | AR ARSI
HRE-TPRAPTE DA 31 |

(h) State Pareto’s law of income distribution
and explain the significance of its
parameters. Mention the limitation of the
law.

o ReRe® (AicEee! REFG! 3 1 o 2R
SATaRT oieod A 31 | @] R
REerTE G 34|
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